Sr: 13122023-3408

Name:
B 11-PLUS
MATHS WORKSHEET [ EWEsE
December 13, 2023 GENERATOR 4 GCSES )
1) Round 26.60992528 to the nearest 100 2)  Simplify 4:18 3)  What would you multiply by to
decrease an amount by 12%?
Answer: Answer: Answer:
4) 49 x 86 5) 1/4 + 13/2 6) Find the mean of the following set of data:
0.4,12,13
Answer: Answer: Answer:
7) 7l ot B 8) Find perimeter of 9)  Convert the following mixed number
b rectangle having 66/2 into an improper fraction.
sidesa= 84 ft
a andb=72ft
Answer: Answer: Answer:

10) 1/16 of 272 11) Simplify 6:17 12) Convert the following improper
fraction 23/ + 41/, into amixed
number

Answer: Answer: Answer:

13) Increase 50 by 2/25 14) Convert the following improper 15) 162+ 4-7

fraction 14/ + 31/ into amixed
number
Answer: Answer: Answer:
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16) 162+4-7 17) Find perimeter of 18) Find the percentage change from 1 to
sgquare having each 20
s side () equals5cm
s
Answer: Answer: Answer:
19) Find the mode of the following set of data: 20) Round 23.98063 to 3 decimal p| aces.
29,29,29,29,29909,909,09, 11,
11, 11, 20, 20, 20, 34, 34, 34, 34, 34
Answer: Answer:
Total: /20
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1) 26.61 2)2:9 3)0.88
8) 312ft 9%, 10) 17
15) 57 16) 57 17) 20cm
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Answers:
4) 4214 5) 6%, 6) 8.47 7)561,,5
11)6:17 12)7 13) 54 14) 49/
18) 1900% 19) 29 20) 23.981
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